
 3 

3.1

 – 

CVM

 – 

CVM  CVM 

 –  CVM  5 

1
2
3
4
5

3.2

 -  400 

 (Accidental Random 

Sampting)   Taro Yamana (1976  

, 2544)
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  n =  N / { 1+[ N (e
2

) ] } 

 n = 

N = 

e =  95 % 

 –  2551  265,295 

 2551 –  2552  2552 (  2, )

 5 (0.05) 

n  =   265,295  / { 1+[ 265,295  (0.05
2

) ] } 

    =   400

 – 400

3.3

 – 

 – 

1)   (Dependent Variable)
 –  4 

WTP1

WTP2
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 WTP3

 WTP4

 2)   (Independent Variable)
 -  4 

Sex

Age

Status  

Family  

Education

Occupation

  Income  

Again
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 3.1
         - 

3.4
  CVM  

  “

 – ”

 (description statistics) 

  Tobit

 WTP1  =  f(Sex, Age, Status, Family, Education, Occupation ,Income, Again,)

 WTP2  =  f(Sex, Age, Status, Family, Education, Occupation ,Income, Again,)

 WTP3  =  f(Sex, Age, Status, Family, Education, Occupation ,Income, Again,)

 WTP4  =  f(Sex, Age, Status, Family, Education, Occupation ,Income, Again,)

 (Dependent Variable)  (Independent Variable) 

 – 

1.  (Sex) Dummy - 

2.  (Age) Discrete 

3.  (Status) Dummy - 

4.   (Family) Discrete

5.  (Education) Dummy - 

6. (Occupation) Dummy - 

7.   (Income) Discrete 

8. 

 (Again) Dummy -
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 WTP1

WTP2

 WTP3

 WTP4

 WTP =  + 1Sex + 2Age + 3Status + 4Family + 5Education + 6Occupation

  + 7Income + 8  Again + ie

i

ie
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Sex   

   1 = 

   0 = 

 Age   (  : )

 Status   

   1 = 

   0 = 

 Family    (  : )

 Education    

   1 = 

   0 = 

 Occupation  

   1 =  ( / / )

0 =  ( / / /

/ / / / )

 Income    (  : / )

 Again   

   1 = 

   0 = /

  4

 4

(1) 

WTP1 =  + 1  Sex + 2  Age + 3 Status+ 4 Family + 5  Education + 6 Occupation

+ 7  Income + 8  Again + ie
(1)
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 (2) 

WTP2 =  + 1  Sex + 2  Age + 3 Status+ 4 Family + 5 Education + 6 Occupation

+ 7  Income + 8  Again + ie

 (3) 

WTP3 =  + 1  Sex + 2  Age + 3 Status+ 4 Family + 5 Education + 6 Occupation

+ 7  Income + 8  Again + ie

 (4)  

WTP4 =  + 1  Sex + 2  Age + 3 Status+ 4 Family + 5 Education + 6 Occupation

+ 7  Income + 8  Again + ie

(2)

(3)

(4)
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3.5

  4

.  (descriptive statistic) 

(Mean)   (maximum)    (minimum)   (Standard 

Deviation)  

.
  (Maximum Likelihood Estimation : MLE)  

  (Tobit  Model)  Marginal Effect 

-

 E(WTP)  (

, 2546) 

ZZZWTPE )(

E(WTP)  

         CDF of Standard Normal 

         PDF of Standard Normal 

        Z        

           

            Sigma

3.6    

-

-   400
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3.7
-

-

 ( )

1)

2)

3)

4)

-  2 
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-

-

-

 (1)

 $1  $3  $5  $10  $………….. ( )

 (2)

   

 $1  $3  $5  $10  $………….. ( )
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 (3)

   

 $1  $3  $5  $10  $………….. ( )

(4)

                       

 $1  $3  $5  $10  $………….. ( )


